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1101[XK1E EE 150 1,500 0 1,500 10 0 0 0 1,836 0 864
EE 60 900 0 900 15 0 0 0 0 1,188 0
GhH 210 2,400 0 2,400
1M13|FEAS  [dLEE 60 600 0 600 10 0 0 0 1,728 0 1,512
GhH 60 600 0 600
1201|833 E% 50 750 0 750 15 0 0 0 1,944 0 1,836
(&) 50 750 0 750
1203| v Ay HE 130 1,300 0 1,300 10 0 0 0 0 648 0
BHE 100 1,500 0 1,500 15 0 0 0 1,328 0 1,296
E& 90 900 0 900 10 0 0 0 972 0 756
GhH 320 3,700 0 3,700
1207| & & & 730 73 73 0
1209[B & S 5 15 0 15 3 0 0 0 0 2,592 0
& 5 15 0 15
1301 [HF RE 2 10 10 0 5 324 0 162 0 0 0
HmE 30 150 0 150 5 0 0 0 2,700 0 1,620
(&) 40 192 10 182
1321 [HA R dLiEE 50 250 0 250 5 0 0 0 0 3,240 0
BiE 20 100 0 100 5 0 0 0 3,348 0 3,024
[E)) 101 570 0 570
1331 | MM FH» GH 140 1,400 0 1,400
1351E—<> [EE 300 45 0 45 0.15 0 0 0 0 92 0
BiE 180 27 0 27 0.15 0 0 0 97 0 92
x5 300 45 0 45 0.15 0 0 0 0 92 0
(&) 840 125 0 125
1371 [L1Y x5 25 75 0 75 3 0 0 0 0 1,404 0
(&) 25 75 0 75
1401425 dLiEE 2 4 0 4 2 0 0 0 0 7,020 0
(&) 2 4 0 4
1521 |B3¥F [E)) 3 30 0 30
1541 [E& EE 79 790 0 790 10 0 0 0 1,836 0 1,620
Eh 79 790 0 790
1609|7aval) [RE 2 12 0 12 6 0 0 0 0 4,104 0
Eh 2 12 0 12
1611[LBR E% 5 50 0 50 10 0 0 0 4,104 0 3,996
Eh 5 50 0 50
1612| =L AR | R 10 50 0 50 5 0 0 0 2,376 0 1,404
Eh 10 50 0 50
1627|S =k [dtiEE 15 45 0 45 3 0 0 0 0 3,780 0
Eh 15 45 0 45
1705| &= =3 540 43 0 43 0.08 0 0 0 0 108 0
Eh 540 43 0 43
1803 | EHEE mE 500 50 0 50 0.1 0 0 0 135 0 125
e 150 30 0 30 0.2 0 0 0 0 66 0
(&) 1,100 125 0 125
1807 H % 100 10 0 10 0.1 0 0 0 0 32 0
=% 1,200 240 0 240 0.2 0 0 0 0 59 0
f=554 300 90 0 90 0.3 0 0 0 0 59 0
(&) 1,600 340 0 340
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1809[L&L EH 250 25 0 25 0.1 0 49 0
=% 2,160 432 0 432 0.2 76 0 67
(&) 2,410 457 0 457
* S EEET * 15,152 21,884 93 21,791
2205282 f=554 15 150 0 150 10 0 4,644 0
ED 15 150 0 150
2303k GhH 4 40 0 40
230725k mE 5 50 0 50 10 0 4,968 0
(&) 5 50 0 50
2731|FEK A 115 1,725 0 1,725 15 0 5,940 0
(&) 115 1,725 0 1,725
2821 | &|IER EE 414 207 0 207 0.5 486 0 410
GhH 414 207 0 207
* S EEET * 1,102 4,304 0 4,304




